

Questions

1) Find the first 40 terms of the sequence defined by

$$a_{n+1} = \begin{cases} \frac{a_n}{2} & a_n \text{ even} \\ 3a_n + 1 & a_n \text{ odd} \end{cases}$$

and $a_1 = 11$. Do the same if $a_1 = 25$. Make a conjecture about this type of sequence.

2) For what values of r is the sequence $\{nr^n\}$ convergent?

3) Find the limit of the sequence $\{\sqrt{2}, \sqrt{2\sqrt{2}}, \sqrt{2\sqrt{2\sqrt{2}}}, \dots\}$.

4) A sequence is given by $a_1 = \sqrt{2}$, $a_{n+1} = \sqrt{2 + a_n}$.

(a) By induction or otherwise, show $\{a_n\}$ is increasing and bounded above by 3. Show the sequence is convergent.

(b) Find $\lim_{n \rightarrow \infty} a_n$.

Solutions

1) We could work this out by hand, but let's extend our knowledge of *Mathematica* a little instead.

New commands are `If`, `OddQ`. There is also a command `EvenQ`, but we won't need it for this problem. The original sequence was given as

$$a_1 = 11, \quad a_{n+1} = \begin{cases} \frac{a_n}{2} & a_n \text{ even} \\ 3a_n + 1 & a_n \text{ odd} \end{cases}$$

which has $n = 1, 2, 3, \dots$. However, to input it into *Mathematica* we prefer the following

$$a_1 = 11, \quad a_n = \begin{cases} \frac{a_{n-1}}{2} & a_{n-1} \text{ even} \\ 3a_{n-1} + 1 & a_{n-1} \text{ odd} \end{cases}$$

which has $n = 2, 3, 4, \dots$

Here are the *Mathematica* commands to define the sequence:

```
a[1] := 11
a[n_] := a[n] = If[OddQ[a[n - 1]], 3a[n - 1] + 1, a[n - 1]/2]
```

I treated the sequence with different starting value as a totally new sequence, and defined it as

```
b[1] := 25
b[n_] := b[n] = If[OddQ[b[n - 1]], 3b[n - 1] + 1, b[n - 1]/2]
```


$$\begin{aligned}
&= -\lim_{x \rightarrow \infty} \frac{1}{r^{-x}} \\
&= -\lim_{x \rightarrow \infty} r^x \\
&= 0
\end{aligned}$$

The above analysis depended heavily on the fact that $-1 < r < 1$, $r \neq 0$. The limits were all taken with this restriction on r in place.

Since $\lim_{x \rightarrow \infty} f(x) = 0$ and $f(n) = nr^n$, $n = 1, 2, 3, \dots$, we can say that $\lim_{n \rightarrow \infty} nr^n = 0$ if $-1 < r < 1$, $r \neq 0$.

We have now treated all possible values of r . We see that the sequence $\{nr^n\}$ converges to zero if $-1 < r < 1$, and diverges for all other values of r .

3) (Note: alternate solution follows this solution.)

We can write the sequence we are investigating recursively as follows

$$a_1 = \sqrt{2}, \quad a_n = \sqrt{2a_{n-1}}, \quad n = 2, 3, 4, \dots$$

Show the sequence is increasing

To show the sequence is increasing we shall use mathematical induction (see page 79).

We want to show the result $a_{n+1} \geq a_n$ all $n \geq 1$.

- Step 1 in induction: Show the result is true for $n = 1$.

If $n = 1$, we have that

$$a_2 = \sqrt{2\sqrt{2}} = 2^{3/4} = \left(2^{1/4}\right)^3 > \left(2^{1/4}\right)^2 = \sqrt{2} = a_1$$

So the result is true for $n = 1$.

- Step 2 in induction: Assume the result is true for $n = k$.

We assume $a_{k+1} \geq a_k$.

- Step 3 in induction: Show the result is true for $n = k + 1$.

From Step 2, we have:

$$\begin{aligned}
a_{k+1} &\geq a_k \\
2a_{k+1} &\geq 2a_k \\
\sqrt{2a_{k+1}} &\geq \sqrt{2a_k} \\
a_{k+2} &\geq a_{k+1}
\end{aligned}$$

So we have shown that $a_{k+2} \geq a_{k+1}$ true.

Therefore, $a_{n+1} \geq a_n$ for all $n \geq 1$ is true by mathematical induction.

The sequence is increasing. The lower bound of the sequence is $a_1 = \sqrt{2}$.

Show the sequence is bounded above

To show the sequence is bounded above we shall again use mathematical induction.

We want to show the result $a_n < 5$ all $n \geq 1$. I picked 5 out of the air. If it doesn't work, I will try something else.

- Step 1 in induction: Show the result is true for $n = 1$.

If $n = 1$, we have that

$$a_1 = \sqrt{2} < 5$$

So the result is true for $n = 1$.

- Step 2 in induction: Assume the result is true for $n = k$.

We assume $a_k \leq 5$.

- Step 3 in induction: Show the result is true for $n = k + 1$.

From Step 2, we have:

$$\begin{aligned} a_k &\leq 5 \\ 2a_k &\leq 2(5) \\ a_{k+1} = \sqrt{2a_k} &\leq \sqrt{10} < 5 \\ a_{k+1} &\leq 5 \end{aligned}$$

So we have shown that $a_{k+1} \leq 5$ true.

Therefore, $a_n \leq 5$ for all $n \geq 1$ is true by mathematical induction.

The sequence is bounded above by 5.

Find the limit of the sequence

Since the sequence is increasing, it is monotonic. The sequence is also bounded. Any monotonic, bounded sequence is convergent (by the monotonic sequence theory). Therefore, the sequence is convergent.

Since the sequence converges, it must be true that

$$\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} a_{n-1} = L$$

We can therefore say

$$\begin{aligned} a_n &= \sqrt{2a_{n-1}} \\ \lim_{n \rightarrow \infty} (a_n &= \sqrt{2a_{n-1}}) \\ \lim_{n \rightarrow \infty} a_n &= \sqrt{2 \lim_{n \rightarrow \infty} a_{n-1}} \\ L &= \sqrt{2L} \\ L^2 &= 2L \\ L &= 0, +2 \end{aligned}$$

We can exclude $L = 0$, since the sequence is increasing, and $a_1 = \sqrt{2} > 0$. Therefore, the limit of the sequence is 2.

Alternate solution to Problem 3

Rather than looking for a recursive definition of the sequence, we could instead search for the general term a_n . In this case, we can find it.

$$\begin{aligned} & \{\sqrt{2}, \sqrt{2\sqrt{2}}, \sqrt{2\sqrt{2\sqrt{2}}}, \dots\} \\ & \{2^{1/2}, (2^{3/2})^{1/2}, (2 \cdot 2^{3/4})^{1/2}, \dots\} \\ & \{2^{1/2}, 2^{3/4}, (2^{7/4})^{1/2}, \dots\} \\ & \{2^{1/2}, 2^{3/4}, 2^{7/8}, \dots\} \end{aligned}$$

The exponent is given by $(2^n - 1)/2^n$. This sequence can be expressed as $\{a_n\}_{n=1}^{\infty} = \{2^{(2^n - 1)/2^n}\}$.

Now that we have this, we don't need to use induction. We can work directly with the term a_n to calculate the limit.

$$\begin{aligned} \lim_{n \rightarrow \infty} a_n &= \lim_{n \rightarrow \infty} 2^{(2^n - 1)/2^n} \\ &= 2^{\lim_{n \rightarrow \infty} (2^n - 1)/2^n} \\ \lim_{n \rightarrow \infty} \frac{(2^n - 1)}{2^n} &= \lim_{n \rightarrow \infty} (1 - 2^{-n}) \\ &= 1 \\ \lim_{n \rightarrow \infty} a_n &= 2^{\lim_{n \rightarrow \infty} (2^n - 1)/2^n} = 2^1 = 2 \end{aligned}$$

4) We can write the sequence we are investigating recursively as follows

$$a_1 = \sqrt{2}, \quad a_n = \sqrt{2 + a_{n-1}}, \quad n = 2, 3, 4, \dots$$

Show the sequence is increasing

To show the sequence is increasing we shall use mathematical induction.

We want to show the result $a_{n+1} \geq a_n$ all $n \geq 1$.

- Step 1 in induction: Show the result is true for $n = 1$.

If $n = 1$, we have that

$$a_2 = \sqrt{2 + \sqrt{2}} > \sqrt{2 + 1} = \sqrt{3} > \sqrt{2} = a_1$$

So the result is true for $n = 1$.

- Step 2 in induction: Assume the result is true for $n = k$.

We assume $a_{k+1} \geq a_k$.

- Step 3 in induction: Show the result is true for $n = k + 1$.

From Step 2, we have:

$$\begin{aligned} a_{k+1} &\geq a_k \\ 2 + a_{k+1} &\geq 2 + a_k \\ \sqrt{2 + a_{k+1}} &\geq \sqrt{2 + a_k} \\ a_{k+2} &\geq a_{k+1} \end{aligned}$$

So we have shown that $a_{k+2} \geq a_{k+1}$ true.

Therefore, $a_{n+1} \geq a_n$ for all $n \geq 1$ is true by mathematical induction.

The sequence is increasing. The lower bound of the sequence is $a_1 = \sqrt{2}$.

Show the sequence is bounded above

To show the sequence is bounded above we shall again use mathematical induction.

We want to show the result $a_n < 3$ all $n \geq 1$. The 3 was given to us in the problem.

- Step 1 in induction: Show the result is true for $n = 1$.

If $n = 1$, we have that

$$a_1 = \sqrt{2} < 3$$

So the result is true for $n = 1$.

- Step 2 in induction: Assume the result is true for $n = k$.

We assume $a_k \leq 3$.

- Step 3 in induction: Show the result is true for $n = k + 1$.

From Step 2, we have:

$$\begin{aligned} a_k &\leq 3 \\ 2 + a_k &\leq 2 + 3 \\ a_{k+1} = \sqrt{2 + a_k} &\leq \sqrt{5} < 3 \\ a_{k+1} &\leq 3 \end{aligned}$$

So we have shown that $a_{k+1} \leq 3$ true.

Therefore, $a_n \leq 3$ for all $n \geq 1$ is true by mathematical induction.

The sequence is bounded above by 3.

Find the limit of the sequence

Since the sequence is increasing, it is monotonic. The sequence is also bounded. Any monotonic, bounded sequence is convergent (by the monotonic sequence theory). Therefore, the sequence is convergent.

Since the sequence converges, it must be true that

$$\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} a_{n-1} = L$$

We can therefore say

$$\begin{aligned} a_n &= \sqrt{2 + a_{n-1}} \\ \lim_{n \rightarrow \infty} (a_n &= \sqrt{2 + a_{n-1}}) \\ \lim_{n \rightarrow \infty} a_n &= \sqrt{2 + \lim_{n \rightarrow \infty} a_{n-1}} \\ L &= \sqrt{2 + L} \\ L^2 &= 2 + L \\ L^2 - L - 2 &= 0 \\ L &= -1, +2 \end{aligned}$$

We can exclude $L = -1$, since the sequence is increasing, and $a_1 = \sqrt{2} > 0$. We could also justify excluding -1 since $a_n = +\sqrt{2 + a_{n-1}} > 0$.

Therefore, the limit of the sequence is 2.